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(i1) Figures to the right indicate full marks.
(iit) Negative marking system for MCQ is applicable.

(tv)  Use black ball point pen to darken the circle of correct answer
in OMR answer-sheet. Circle once darkened is final. No change
is permitted.

MCQ

1. Choose the correct alternative for each of the following : 1 each

d
(@) If %F(x) = flx) we say that F(x) is a/an :

(@)  Derivative of flx) (b)  Integration of fix)
() Both (a) and (b) d) None of these

(@) f xeXdx =
(@)  e*x - 1) b) e*x-1)
() X1 - x) d eMx + 1)
P.T.O.
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@iir) Reduction formula for I sin” xdx =

son-1, ., _
@ sin’_"x-cosx 1 1J- sin™ 2 ¥ dx
n n
. n-1
®) sin” “x-cosx n-1 J- in™ 2 x dx
n n
- n-1
—sin” "x-cosx n-1 Yok
(c) - f sin™ 2 x dx
n n
. n—1
- : -1 >
@ sin” " x-cosx n J- sin”2 ¥ d
n n
(v) Integration of secZ3x - cosec¥3x is :
(a) 3 tan /3« (b) —3tan13«
(c) —3sec 13y d) 8seclByx

@  If | f(x)dx = F(x), then ? f (x)dx =

(@  Fb) - Fa) ®) If) f(t)dt

() —I f (x)dx d)  All of these
(vi) f sin® x dx =

0

(@) —%ﬂ () 8—;

(©) % d) 3—;
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(vii) J- x" - sinmx dx =

x"cosmx nx"lsinmx n(n-1); o .
(@) + 5 - 5 .f x“ : sinmx dx
m m m
x"cosmx nx"lsinmx n(n-1)¢ o .
() - S ——=—t| %" sinmx dx
m m m
x"-cosmx  nx"losinmx n(n-1)p .o .
© - + > X 2 f x4 sinmx dx
m m m
x"-cosmx nx"losinmx  n(n-1); .o .
d - + 5 + 5 f x""% sinmx dx
m m m

(viit) The double integral of fix, y) over the region A, is denoted by :

@ [ flxy)dx ® ] Fly)dy
A A
(c) ” f(x, y)dA (d)  None of these
A
(ix)  The value of |(1/92) is :
(@ ¢ ®) Jn
1(1
(0) \/772 (d) 32
(x) The area of the circle x2 + y2 = 1 is :
(@ ® >
a i 9
@  +g @
< 3 4
Theory
Attempt any two of the following : 5 each
(@) Prove that :
n-1_. . _
.[ cos" x dy =5 X SIX N 1 .[ cos™" 2 x dx.
n n

P.T.O.
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b) If flx) and ¢(x) be two functions of x, then prove that :

f fi(x) - fa(x) dx=f1(x)_[ fa(x) dx—_[ {fl(x)f fa(x) dx} dx.

() Evaluate :
'[ x2 - sinx dx.
3. Attempt any two of the following : 5 each
(@) Prove that :
n-2 . v
f sec’ x dx = 2% X Sast £ & % I sec” 2 x dx.
n-1 n-1

b) Show that :

_[ f(x)dx _ 0, flx) is odd function of x
-Qa
a
= 2J‘ f(x) dx, flx) is an even function of x.
0
(c) Evaluate :
f sin®® x - cos® x dx.
4, Attempt any two of the following : 5 each
(@) Prove that :
b d b d
.[ f(x)dxxj g(y)dyzf I f(x) g(y)dx - dy.
Qa C a ¢

b) Prove that :

/2 [\
f cos?™ 19 sin®""1o do = m) ’(7)

0 2|(m +n)

(c) Evaluate :

3

S w

2
Ixy(1+x+y)dx-dy.
1
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